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RryfRa g« i go2)

Aa=er

3ifdreras 3ieh: 250

UH-UA Gra-eft fagtw argeer

(e usil & SR 37 O gd Fafaf@d ude srggar &l wargdas ufey)

o TA-UA H UTferepd A1 | ey foram sirasaes € aUT 39 A1e0H ol WE Jeoid UH-Tg-3I<%
(.T.Q.) Giedient & HE-g8 W [T UM IR T 37aae ¢ | UTiAehd A1eqH o ifdR<h o= fohedt
areay § ford 0 IR WR sies T8l QU SIa |

o Uil & IR e eg-dwn & srgar gk =nfau |

. UH-Tg-ITR (RL.Q.) giaet & @reft SIS 7T fheft gs srerar gs & i @t gofa: e g |

Time Allowed: Three Hours

ESSAY

[Maximum Marks: 250]

Question Paper Specific Instructions
(Please read each of the following instructions carefully before attempting questions)

« The ESSAY must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the

authorized one.

« Word limit, as specified, should be adhered to.
« Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must

be clearly struck off.



fA=faf@a @vz A ik B uda+ @ v fAwg gaaw &t fAery @y, st axas «ent 1000 - 1200

gl A gt :
Write two essays, choosing one topic from each of the following Sections A and B, in
about 1000-1200 words cach: 125 % 2 = 250
ous A
Section A

1. ST Ggarsil O uget 31 g 3R I 39k aig 3a @ |

Forests precede civilizations and deserts follow them

2. vfasy & gyTey, Afcass & sy gt |

The empires of the future will be the empires of the mind.

3. U=l & SIS AFf 1 &; va=ar & 7nf g1

There is no path to happiness; Happiness is the path.

4. UH YBA arett gt s o1 = R{urd 81

The doubter is a true man of science.

us B
Section B

5. Hiere Hifgar garstt J ‘et &1 =¥ de1 R @1 8 ah R 394 siawrg ek
3rhelTu 96 @1 gl

Social media is triggering Fear of Missing Out' amongst the youth,
precipitating depression and loneliness.

6. T 9t agea ufagpe aRfRAfaal 1 T R gad §, Afh freht aafwh & afka
& gdtetur & fag, I 2afth e &= AT |

Nearly all men can stand adversity, but to test the character, give him power.

3. g gRund are It =R ghn 1R & g4 81

All ideas having large consequences are always simple.

4. Ted g Y hAd B T HA h Fraa § A &1

The cost of being wrong is less than the cost of doing nothing



T T (U81-U 1)

RryfRa g« i go2) SIRYeRae e 250

UH-UA ra-eft fagtw argeer
(puan usil & SR 37 @ gd Fafaf@d ude srgdar &) wrgdes ufey)
g g uy Ry € 5 3= va sish & A w1 €1
- Ot gy e €
. U U/ & forg Fad s 39 A &g 9 81
o Ul & IR I Uifdepa AreH # ford 54 anfa e, fdent Seeia smmues ydsr ust F forar man g, ok g9
HTHH T WE Iooid UH-Ug-3R (o Hlo To) Yident & JEys W Ay wiH R fovar st =gyl
UTfeIehd ATeH o SifaR<h 3= fohelt ey H fore Y ITR R s 3ieh gl fAci|
o UM T 1 T 10 deh ohl IR 150 Usa] & dUT U Tm 11 I 20 deh o 3R 250 Usef & Sy’
. Ul & T rsg-IdiET ot e J 9u)
o UH-Tg-IR YdehT H Wiell BIS 7Y i3 U8 37YAT Y8 & 9T ohl Yuid: sie gl

GENERAL STUDIES (PAPER-1))

Time Allowed: Three Hours Maximum Marks: 250

Question Paper Specific Instructions
(Please read each of the following instructions carefully before attempting questions)

« There are TWENTY questions printed both in HINDI and in ENGLISH.
« All questions are compulsory.

« The number of marks carried by a question/part is indicated against it.
« Answers must be written in the medium authorized in the Admission Certificate which must

be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

« Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

« Keep the word limit indicated in the questions in mind.

« Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.



. Radfeeh @ IR-AfRek hret deh amIfoIeh 3R enffer & A ufed uRad=l =l ¥@ifera MfSai

(I 150 2regt # i)
Underline the changes in the field of society and economy from the Rig Vedic to
the later Vedic period (Answer in 150 words)

. &feror YRa A et T Tifged & A # st & gewal & h1EH @1 gedich fifSig)
(I 150 2regf # i)

Estimate the contribution of Pallavas of Kanchi for the development of art and
literature of South India. (Answer in 150 words)

. @ -t geag off fo ek sh1eor WRa BiSt stiete = goi? 39 ulRumt &t e fifsig)
(I 150 2reaf 7 EifSig)

What were the events that led to the Quit India Movement? Point out its results.

(Answer in 150 words)

. GEY g & araA A gig o g2 gg Iwrekfeddia ashardal & Rmfor @t @ uwnfaa @war

27 (I<R 150 1&gt # §fS)
What is sea surface temperature rise? How does it affect the formation of tropical
cyclones? (Answer in 150 words)

. BIe A A Y o1 A 7 MR 1A vanfHal ol 4l rerftia swed 82 faeprafie 3t 6
foafaat & sireites & sg<ht A== Hifsgl (3R 150 2ret # QfSrg)
Why do large cities tend to attract more migrants than smaller towns? Discuss in
the light of conditions in developing countries. (Answer in 150 words)

. gT&e thet' it uReaes @7 g2 e fifsigl (IR 150 greal § )
What is the phenomenon of 'cloudbursts? Explain. (Answer in 150 words)

. 'Sgiferdha M (Satnfhe A=) h sfauron aam 82 o gg gfaar Ot fRAfa &Y ek

SR g2 fawrR | aasul (IR 150 <real 7 €ifSIQ)
What is the concept of a ‘demographic winter? Is the world moving towards such a
situation? Elaborate. (Answer in 150 words)

. ifiter AT, wifftes fAsaerar ga afgen gafharor & dia siar @t we fifSig| wria 6
IR&eTT 3R Frafaa # dfe TRART &l = 7 @41 i agwagef g2

(IR 150 reaf # i)
Distinguish between gender equality, gender equity and women's empowerment.
Why is it important to take gender concerns into account in programme design and

implementation? (Answer in 150 words)
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10.

11.

12.

13.

14.

15.

16.

. A aTih-3fde et areft snfaral & = siazeidia fAag 7 &g a& a2 &, g

Sirunfifer fAargl & ar & ag &9 9= g1 fad==n fifsw) (I 150 el 7 §ifSrg) 10

Intercaste marriages between castes which have socio-economic parity have
increased, to some extent, but this is less true of interreligious marriages.

Discuss (Answer in 150 words)
e & arfSie-snfde gef @ fAged § TRaR, R-wrar d@wre+t ga fAsht et & fiw g
WehR T WgdahT qaffdes suakit ghm? (@R 150 =i A ARg) 10

In dealing with socio-economic issues of development, what kind of collaboration

between government, NGOs and private sector would be most productive?
(Answer in 150 words)

gieiifeh AgH aie 2k 313t Hisye gl & @fohT I7ht el T aRgeren & &89 d IpE
Sucferat & FrRor 31t ot 3= aga e @ e frar Strar g1 fewaoft RifSg

(IR 250 <&l # §fSg) 15
Though the great Cholas are no more yet their name is still remembered with great
pride because of their highest achievements in the domain of art and architecture.”

Comment. (Answer in 250 words)

g TheT gl doh Siad g b uus Riygg gera: Afh-dges &t a91¢ @ & fog st ™

AqT? (IR 250 et F difsg) 15
How far is it correct to say that the First World War was fought essentially for the
preservation of balance of power? (Answer in 250 words)
WRA # g&IfAe 3R FER el & g9 & g Sz hi sitefes i gl aa Iararh

ofi? (IR 250 gl # Sy 15
How far was the Industrial Revolution in England responsible for the decline of
handicrafts and cottage industries in India? (Answer in 250 words)

i urél i ferer arAar A iR firrae o <t 81 g WRa Y |@rer gram & 7 yenfaa R
Hehell 82 (IR 250 s A dfdg) 15
The groundwater potential of the gangetic valley is on a serious decline. How may

it affect the food security of India? (Answer in 250 words)
SRR sifeeford ok oiiiRT aifRanfery @ 82 3 & 3R« gl 82 (IR 250 el F QfFg) 15

What are aurora australis and aurora borealis? How are these triggered?
(Answer in 250 words)

fawr = &2 ARy i @t & sraura & &= 7 sifderar faee: aat 2@ =i &2

(IR 250 <regf 7 €fg) 15
What is a twister? Why are the majority of twisters observed in areas around the
Gulf of Mexico? (Answer in 250 words)



17.

18.

19.

20.

gtfita s = 82 gg Rfauar @ frg yar f9= 82 wira A asfta srawmran o qer
forear iefiR 82 (IR 250 1= # &)
What is regional disparity? How does it differ from diversity? How serious is the
issue of regional disparity in India? (Answer in 250 words)

HHAT 3R a1fSies = fit aaraes et & amacg, ot aa dfRa oot ot d@faum grr
IR&fRT FhRIHS FRATE I GRT @1 g1 e g1 g1 froaoft FRQ1 (g 250 3=t & Gy

Despite comprehensive policies for equity and social justice, underprivileged
sections are not yet getting the full benefits of affirmative action envisaged by the
Constitution. Comment. (Answer in 250 words)

a=fienvor A fafda ot &6t e, gar ga sifdanfaa afgeneii grRr 2w vaw 7 gf it g1 59
ugfa 7 IR aafhma Wdar g aRaR & 91y Syl o aar yoTEa STt 82

(I<R 250 greaf # i)
Globalization has increased urban migration by skilled, young, unmarried women
from various classes. How has this trend impacted upon their personal their
(personal freedom) and relationship with family? (Answer in 250 words)

39 fAHa &1 SiTeta-Taas fasawor FifSig fh wrea & wivgpfas RAfayar stk arnfSie-
31fder daiaarsett & = v g g« g1 (IR 250 rsaf 7 1fSQ)
Critically analyse the proposition that there is a high correlation between India's
cultural diversities and socio-economic marginalities. (Answer in 250 words)
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15

15

15



T 30T (U-UH - 2)

RryfRa g« i go2) SIRYeRae e 250

UH-UA ra-eoft fagtw argeer
(puan usil & SR 37 @ gd Fafaf@d ude srgiar &) wargdas ufey)
g8 19 gy Ry 7y € St fR=<) ue sish i A v €1
o« gt usy e g
. U TH/¥IT & forg g sfer 39 e g e €
o Ul & IR I Ufepa AremH # ford ST =1fey, fordenT Ieeia smudh udr ux # fohar a8, ik g
HIEGH 1 WE Iooid UH-Yg-IR (o Hlo To) YRdent & JEys WR fAfcE wiH R o s =gyl
UTfdIehd ATeH o SifaR<h 3= fohelt ATens # fore 1Y ITR R ahls 3ieh gl Al
o UM TAT 1T 10 deh ohl IR 150 el & TUT U TRm 11 I 20 deh o 3R 250 el & Sy’
. Ul & 3T reg-ar &t e F fRew)
. UH-Tg-IWR YRdent | @Tell IS 7Y Sig Y8 3HaT U8 & 9T St guid: se SISy

GENERAL STUDIES (PAPER-II)

Time Allowed: Three Hours Maximum Marks: 250

Question Paper Specific Instructions

(Please read each of the following instructions carefully before attempting questions)

« There are TWENTY questions printed both in HINDI and in ENGLISH.

« All questions are compulsory.

« The number of marks carried by a question/part is indicated against it.

« Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

« Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

« Keep the word limit indicated in the questions in mind.

« Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.



. fafvra afafeal g/ gamd ™, vd "ve g va gt & Rfe g A, 3o guri &
STIARAT T GI&TOT | (IR 150 12t F Q)
Examine the need for electoral reforms as as suggested by various committees

with p reference to "one nation - one election" principle. (Answer in 150 words)

. ek ST aYUT AT fAhur il aarear RIfSY aur 399 3k e fHifs |

&1 3 farit aur AruRIfAE ST upfa & Al R AR #&=a § 2 (SR 150 sreaf & €fSg)
Explain and distinguish between Lok Adalats and Arbitration Tribunals. Whether
they entertain civil as well as criminal cases ? (Answer in 150 words)

. i yoreh! & AR & aRumresu aragiRe Tu @ d9da gat=aqar gifAw uwR I« 1

21" e HifSul (IR 150 <real 7 i)
The growth of cabinet system has practically resulted in the marginalisation of the
parliamentary supremacy." Elucidate. (Answer in 150 words)
. e ga Agraar udiereh ot s thae aa i duar gAfHa &= 8t 81 afch Iga
s +ff gffga @z 81" feooft Hifsig) (IR 150 v} § &)
The duty of the Comptroller and Auditor General is hot merely to ensure the
legality of 5. expenditure but also its propriety." Comment. (Answer in 150 words)

. W ©R IR AT UEH &1 7 Rria fAerat h yfaewr o fasawor fifsig ok arfor

g ATt &t g8 ®ura At d faea e & wrag 8k e ot we fifag)
(I 150 gregf 7 i)

Analyse the role of local bodies in providing good governance at local level and

bring out the pros and cons merging the rural local bodies with the urban local
bodies. (Answer in 150 words)

.mﬁwm&waﬁwﬁaaﬁﬁmﬁﬁagﬁ%m,mﬁaﬁmﬁﬁ%ﬁm;ﬁim
& e &Y o1fdres gumasht = &1 g 81 ot Aifdig ( (3R 150 22t # HfSr)

Public charitable trusts have the potential to make India's development more
inclusive as they relate to certain vital public issues. Comment.  (Answer in 150 words)

. Feaar ok utwor ges fawrh @sk a1 fRAafor e & St 7T gt Awfor o= ufage oavma
ST 3T 21 39 sk ! d1S1 & fOT T hey IS¢ ST Ahd @ ? (IR 150 reaf 7 €ifSig)

Poverty and malnutrition create a vicious cycle, adversely affecting human capital
formation. What steps can be taken to break the cycle? (Answer in 150 words)

. USITdifes rE &1 RAg g ifAard shar g for wiier gt hY gaafasT ik ufdagdar &
ufa &t uRon gufe: gaRtes o+ g1 fad=ae fifkfig)

(ITR 150 sl 7 §fSig)
The Doctrine of Democratic Governance makes it necessary that the public
perception of the integrity and commitment of civil servants becomes absolutely

positive. Discuss. (Answer in 150 words)

10

10

10



10.

11.

12.

13.

14.

15.

. ufH ¥RA &, AT K engff e AR AR F v ur RFa F Tud iR A &

AT 3R STffer U T FehtaetT e & o Uas oI agatft & s Temar
ST 81' TN & J1Y 39 YU i a1 FifSg) (IR 150 greal § )

The West is fostering India as an alternative to reduce dependence on China's
supply chain and as a strategic ally to counter China's political and economic
dominance.' Explain this statement with examples. (Answer in 150 words)

Aoy UfAars TURTSAT (C.A.R.s) & 1Y YR & faerfaa gl Teriifaen, snfdfer sk rurfifaes
Heiel T ST fasawor A, aun asfia ok AfYes Rrerifa # 39 Tod 7w w®
<RI S| (IR 150 greal 7 €ifSIQ)

Critically analyse India's evolving diplomatic, economic and strategic relations
with the Central Asian Republics (CARS) highlighting their increasing significance
in regional and global geopolitics. (Answer in 150 words)

aroft g1t & uIlRer aut &y foRd M, &tes adtan (srgfRa aru=t Y Awum) sifafaaw, 2024 &
d8Y AT I22° T 2 1 fayfaenera | wsg faem aRue 6 aftemd off 39 sifaffam &
aierfe orrelt § 2 (IR 250 2reat # ifSiY)

What are the aims and objects of recently passed and enforced, The Public
Examination (Prevention of Unfair Means) Act, 2024? Whether University/State
Education Board examinations, too, are covered under the Act? (Answer in 250 words)

fArsran o1 sifdR, wror aur 2@ wdsar & eriaRe WFT & Fu 7, TfRue & srgede 21 &
Sr=ld I w0 & Wi g1 s fiford | 39 Tgsf § ges My fAg) & Aqe =t
g 1 & ford f.07.1. gdeor @ g [ffd & aaf Ko | (I<R 250 el & &fSY)

Right to privacy is intrinsic to life and personal liberty and is inherently protected
under Article 21 of the constitution. Explain. In this reference discuss the law
relating to D.N.A. testing of child in the womb to establish its paternity.

(Answer in 250 words)
&5 WEHR A -y Graeul & & 7 gt @1 A a1 ggra R &2 duarg &t Aeigd aea
& forg aur Fe; ok Il & g Ay AT e & T U GATRT | (3ek 250 et & &)
What changes has the Union Government recently introduced in the domain of
Centre-State relations? Suggest measures to be adopted to build the trust between
the Centre and the States and for strengthening federalism. (Answer in 250 words)

R # ST-fad gifArsil & de & hRuT WE HifSIY| 59 TRuMHwERsY, a1 WRd &1
I=aaH ArTed g ar B o rfheredt Arauifordt &k EU A IWTE 2 (3R 250 vt & )
Explain the reasons for the growth of public interest litigation in India. As a result
of it, has the Indian Supreme Court emerged as the world's most powerful

judiciary? (Answer in 250 words)
URd f g erifARder Tsa & Tu A A= fifSg ik smfEr dfaum & anffarder
gt & a1y ge=n ifSigl (IR 250 rsaf # €ifSig)

Discuss India as a secular state and compare with the secular principles of the US
constitution. (Answer in 250 words)

10

10

15

15

15

15



16. ATR@G-hfd umE= &t GRfHa &7 & g arie sifdar-u g efagRe uga W 81
for=g, 3@ oroft oft srait gof erraT ae ug=mT areht @1 39 a1 fi mifey # arer e  ar

TR Y ugar HIfSIY 3R I¢ R FR FA & U GATT| (IR 250 vt § &feg) 15

The Citizens Charter has been a landmark initiative in ensuring citizen-centric

administration. However, it is yet to reach its full potential. Identify the factors

hindering the realization of its promise and suggest measures to overcome them.
(Answer in 250 words)

17. witeh TG T@HTA YTl ) Agwaygul &7 # YR I<T Tl 39 ATTAT & FISTRIGIT &
gIHTEl Akt & g aaraes sffaet Awrit @1f@e) o 4 Sura gemsy = areaw @

U, iteh TTRA ST HUTTAT Y Ug T fadR N &R da o 9|
(IR 250 r=al # Afsig) 15

In a crucial domain like the public healthcare system the Indian State should play
a vital role to contain the adverse impact of marketisation of the system) Suggest
some measures through which the State can enhance the reach of public
healthcare at the grassroots level. (Answer in 250 words)

18. a9 a1 uerrft &Y ufehar # fafSies venfdh o1 AfQes Fraf J srguatT ar= & 781 81
g9 ureffar ik STaradadr ot §RfHa #e & Ay Ry yar 6t srarferag +ft §1 59
= A . Ta & 'sefarea fdw Atsar @1 g fifsigl (IR 250 et F &fdw) 15

e-governance is not just about the routine application of digital technology in

service delivery process. It is as much about multifarious interactions for ensuring
transparency and accountability. In this context evaluate the role of the 'Interactive
Service Model of e-governance. (Answer in 250 words)

19. 3iT<iehare afYeh 2nifa 3R TReM & A Teh a1 @avT 94 Tar g1 SieRifga TR R 39 @R &t
TEIfAT Fe SR FH He J Ty A Jram uRug & sidrare ARy afafa (@#.8.4) s
99 Hafda FAerrat hr gvrasfierar &1 geaic fifSg | (IR 250 et F §fFg) 15

Terrorism has become a significant threat to global peace and security.' Evaluate
the effectiveness of the United Nations Security Council's Counter Terrorism
Committee (CTC) and its associated bodies in addressing and mitigating this threat
at the international level. (Answer in 250 words)

20. afYer =TUR 3R Fef vaTe wR e Fia wed g WRa & ford Arerdla & -wrerhifaes ok
Y-3orifaes dgva R Taf FifSig) ot ag oft aat & [k gg Say siawdig ufawgut & fig
WRe Y Tl gRem ok &Ry f[RARar ot F) yanfaa war g 2 (IR 250 T=f A Afdrg) 15

Discuss the geopolitical and geostrategic importance of Maldives for India with a
focus on global trade and energy flows. Further also discuss how this relationship
affects India's maritime security and regional stability amidst international
competition? (Answer in 250 words)



T 3T (U1-UH - 3)

RryfRa g« i go2) SIRYeRae e 250

UH-UA ra-eoft fagtw argeer
(puan usil & SR 37 @ gd Fafaf@d ude srgiar &) wargdas ufey)
g8 19 gy Ry 7y € St fR=<) ue sish i A v €1
o« gt usy e g
. U TH/¥IT & forg g sfer 39 e g e €
o Ul & IR I Ufepa AremH # ford ST =1fey, fordenT Ieeia smudh udr ux # fohar a8, ik g
HIEGH 1 WE Iooid UH-Yg-IR (o Hlo To) YRdent & JEys WR fAfcE wiH R o s =gyl
UTfdIehd ATeH o SifaR<h 3= fohelt ATens # fore 1Y ITR R ahls 3ieh gl Al
o UM TAT 1T 10 deh ohl IR 150 el & TUT U TRm 11 I 20 deh o 3R 250 el & Sy’
. Ul & 3T reg-ar &t e F fRew)
. UH-Tg-IWR YRdent | @Tell IS 7Y Sig Y8 3HaT U8 & 9T St guid: se SISy

GENERAL STUDIES (PAPER-III)

Time Allowed: Three Hours Maximum Marks: 250

Question Paper Specific Instructions
(Please read each of the following instructions carefully before attempting questions)

« There are TWENTY questions printed both in HINDI and in ENGLISH.
« All guestions are compulsory.

« The number of marks carried by a question/part is indicated against it.
« Answers must be written in the medium authorized in the Admission Certificate which must

be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

« Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

« Keep the word limit indicated in the questions in mind.

« Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.



. URd # GURT & IWT=1 it 3afd &, arfSies Saratt wR ardeiAe aag & @y gd ugf
o1 gdteror FifSig fora Hiar a6 ag aamdaf dqfeg & 38T &) ura &7 & srgeu 82

(I<R 150 =l 7 &fsy) 10
Examine the pattern and trend of public expenditure on social services in the post-

reforms period in India. To what extent this has been in consonance with achieving
the objective of inclusive growth? (Answer in 150 words)

. MRd # AR I=a @rer gerhifa & Ror a1 €2 39 UahR Fi gerehifa ot A
& # 3Ro o o i Hifger fifa A yurafierar w fewoft AT (g 150 s F &ifG) 10
What are the causes of persistent high food inflation in India Comment on the
effectiveness of the monetary policy of the RBI to control this type of inflation.

(Answer in 150 words)
. 321 & 5 W A YA GURT & Gt prafaa+ & A IaRerlt aRe = 42 we fifsal

(ITR 150 vreat & dfsrg) 10
What were the factors responsible for the successful implementation of(land

reforms) in some parts of the country? Elaborate. (Answer in 150 words)
. YR § @1eg gd givor i grem ot gRfga &= & fag #ie st i yifewr &t
HHATSY I (SR 150 st & Aifsrg) 10

Explain the role of millets for ensuring health and nutritional security in India.
(Answer in 150 words)

. Sfias amfial & dgf d aifge duar sifdert & adar= Ay uRea = 82 gafd wra

tee ZIfed T & A J g d TR ®IF WR g, R oft dhae 5 o1 8t cagardiaRor

forar a1 @1 39 =9 AaarfieRRuT & SR f e HifSigl (IR 150 =t A &ifSig) 10
What is the present world scenario of intellectual property rights with respect to life
materials? Although, India Is second in the world to file patents, still only a few have

been commercialized. Explain the reasons behind this less commercialization.
(Answer in 150 words)

. ISR IR AGEI-eh UY-ThR UG A o g -t sienfrdht sro=md s @t 82 sakh
HT-RT AT 3R HAT-:1 1Y 82 & -8 yRead= usaifad g St 39 uferar st Rafe a=r
&2 T gg uRad= i Gafaa @ar de smem? (IR 150 =i A difSig) 10

What is the technology being employed for electronic toll collection on highways?
What are its advantages and limitations? What are the proposed changes that will
make this process seamless? Would this transition carry any potential hazards

(Answer in 150 words)
. YR | 7Y & I 1 e uguor ek Agwaqel gafarofia ger 81 39 awen 4 Rued &
fore fRAfSa = Sl ok 39 ddy A et ugad Y W gaf KRG w150 s=i F @Y 10

Industrial pollution of river water is a significant environmental issue in India. Discuss
the various mitigation measures to deal with this problem and also the government's
initiatives in this regard. (Answer in 150 words)



8.

9.

10.

11.

12.

13.

14.

15.

WRd # wga aRaternsit & forg, gafarofta uwng sirerer= (g0 smgo Qo) uRRummst &t wawfae
& A yafarofia R-TRER Tire+ 3R swrdardf arar yfaewr fAsma §2 99t agaygot Razoi

gfgd TR I&1evr ifu) (IR 150 et & &) 10

What role do environmental NGOs and activists play in influencing Environmental

Impact Assessment (EIA) outcomes for major projects in India? Cite four examples

with all important details. (Answer in 150 words)

THEEY fh AATeRl-oiTdchar e Twguf 321 # fh UehR ga 7R @aR & w0 # IR M g
ATehl-SiTdehare @ e & fog agfRa sural = gama ffSial (I 150 =3 & &)
Explain how narco-terrorism has emerged as a serious threat across the country
Suggest suitable measures to counter narco-terrorism. (Answer in 150 words)

fafStea aafemma 3e1 w=earor sifafas, 2023 & def aur uqa faziwarsit & qofa fifeg)

(ITR 150 <regt 7 €ifS)
Describe the context and salient features of the Digital Personal Data Protection

Act, 2023. (Answer in 150 words)
WRA # 819 IR YR & " #, IR 'sm fgarsit’ & o1 a giwl i e fifsig) 3=

ey d, arft e o wnfa g 82 (IR 250 et # GfSY)
Discuss the merits and demerits of the four 'Labour Codes' in the context of labour

market reforms in India. What has been the progress so far in this regard?
(Answer in 250 words)

URe # el arg wfaefaé & fawar &Y Far smaawdar g2 59 e &, SRR &Y 'S
TISHT 4T §9h! Iuafeddt H T=t KAl (IR 250 &l § §fSg)

What is the need for expanding the regional air connectivity in India? In this context,
discuss the government's UDAN Scheme and its achievements (Answerin 250 words)

g & Rt # wrdta Rrars voret & = @ wig gAifaar 82 g e v & fog
TRBR ZRT AUATT T IUTAT bl Id13T1 (IR 250 g1t & &)
What are the major challenges faced by Indian irrigation system in recent times?
State the measures taken by the government for efficient irrigation management.
(Answer in 250 words)
WRd & HfY Frral & [ RDAAwwor & g G WzR (TR ©ia) & ggwa & we fifsgl
THR Wich & WSRUT @ I gHifaat aam g2 fad=asn fifsig) (IR 250 reat & g
Elucidate the importance of buffer stocks for stabilizing agricultural prices in India.

What are the challenges associated with the storage of buffer stocks Discuss.
(Answer in 250 words)

Ay = @ vd Jfaa S arht i srafA FHt a1 I e us @1 Qg wla-dt
Aehfcter dap-iteh &2 Ut fohegl o=t der-iienl o == 1ot ik ==t RfAQ @1 39 Have T
HHTYT & & &lul &bl Ieoid Hed §Q Helg 7 (3R 250 1<t & A
The world is facing an acute shortage of clean and safe freshwater. What are the
alternative technologies which can solve this crisis? Briefly discuss any three
such technologies citing their key merits and demerits. (Answer in 250 words)
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16.

17.

18.

19.

20.

&IEUE T g2 3919 Sfiad & g gi= &1 @art fha=r areafae 82 0d fAww &t At & fog
mwﬁﬁu‘fﬁm@aaﬁnﬁé') (IR 250 el 7 &fSg) 15
What are asteroids? How real is the threat of them causing extinction of life? What
strategies have been developed to prevent such a catastrophe?  (Answer in 250 words)

3uer ufaRty T 82 39 ha RufRa forar smar 82 ves ufaRty i & fafv= a<at & aofq
HIfSrq1 smuer siif@w <iawur & fag d=18 o (2015-2030) & dfYas weal ot oft I

&Sl

(IR 250 sr=af A fSg) 15
What is disaster resilience? How is it determined? Describe various elements of a
resilience framework. Also mention the global targets of Sendai Framework for
Disaster Risk Reduction (2015-2030). (Answer in 250 words)

et &1 # a1g Qek It g3 STerarg-aRa smuer 81 39 siruer & sRot di ==t fifg)
o &t g2l A, wRa A omdt W=t gt wiga ael i frtuarsit @ seoa Fifsigl wra i 3=
Hifaat oiik eral @ aui= hifSig ST Sea ot arel @ Ruear g1 (IR 250 w=a} A &fSy) 15

Flooding in urban areas is an emerging climate-induced disaster. Discuss the
causes of this disaster. Mention the features of two such major floods in the last
two decades in India. Describe the policies and frameworks in India that aim at
tackling such floods. (Answer in 250 words)

WRa &Y H9 g grfhear & 91y Ueh didehticoren siziid T g [Sad s fAarerug g8 81
i & Ty grER-faRef gel aur gren geifawt @ ofteror Fifsig) W e R wrdma
(fro Qo Sto o) T MAT SrEwTAT 3R UEHH (o 350 THo) TS o Siaifd 5 &= A
forT S aret faerTa st <t oft Sff@T fifSgl (IR 250 et 7 Afsrg) 15

India has a long and troubled border with China and Pakistan fraught with
contentious issues. Examine the conflicting issues and security challenges along
the border. Also give out the development being undertaken in these areas under
the Border Area Development Programme (BADP) and Border Infrastructure and
Management (BIM) Scheme. (Answer in 250 words)

witerer Hifar gd ' e (QFERfET) Ter Qard tiofik grem g 21 Sere i &

qean fRAfgaryf @t @aifda w=a gu fafs @< = @1 Sur s 1) &2 59 awwn &
Haifdq s=d gu o= fn=dt Surat a1 oft gzmar S (IR 250 et & AfSw) 15
Social media and encrypting messaging services pose a serious security

challenge. What measures have been adopted at various levels to address the

security implications of social media? Also suggest any other remedies to address

the problem. (Answer in 250 words)



T 30T (U1-UH - 4)

RryfRa g« i go2) SIRYeRae e 250

UH-OF Fra=aft fasiy srgeer
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Q1. (a)

ous A
Section A

namafies adwTa Pivfa 3% & g 39ge & va Raywea wta & = § Fhm afge
(Al) T STIANT Qeh dgH &1 eI 81 A gfemlor @ 39 wu= &1 et S gdteror
Hifaq (IR 150 redt § Afg) 10
The application of Artificial Intelligence as a dependable source of input for
administrative rational decision-making is a debatable issue. Critically

examine the statement from the ethical point of view. (Answer in 150 words)

(b) Afdmar A g wigE sma™ A« ¢ St afhal sk @ireHl &l Afas T @ [fimEr

Q2. (a)

(b)

(Answer in 150 words) =agR &t feem & Anfe & & wgvaygef &1 A= wrat
& uIfad et aret Afderar & wipa Al &Y arer fifsg) waf fifse fr a
S deter d@ed # Afaew fofa a9 &t Fd R 44 €1 (I<R 150 sreaf & &frg) 10

Ethics encompasses several key dimensions that are crucial in guiding
individuals and organizations towards morally responsible behaviour."
Explain the key dimensions of ethics that influence human actions. Discuss
how these dimensions shape ethical decision-making in the professional
context. (Answer in 150 words)

rifa & IR # chae a1 AT g yaied A1 8, 39 W Oy & wnfge; siRsg wR

dhad fayra w1 & ot T8 &, 39 R it w1 Tnfgu 1 adue= deof &, fAfaa

32t & wiga gfdar Jeh, gFar R F 1o T & fAg &g ggt A FRawar w=

ufdihel UM ST 3@ 8| 15T oh SieRiEig & # e 9« 3@ dudl &l Ao & g
e1fharet et & Afdes AR aar §2 (SR 150 /=t & &frg) 10

It is not enough to talk about peace, one must believe in it; and it is not
enough to believe in it, one must act upon it." In the present context, the
major weapon industries of the developed nations are adversely influencing
continuation of number of wars for their own self-interest, all around the
world. What are the ethical considerations of the powerful nations in today's
international arena to stop continuation of ongoing conflicts?

(Answer in 150 words)

Toltad i ok Serarg uRead faera & 9 iR #Fa & drera &1 aRonw g, Sit 39

3R Tcha et g b ara afga it St o1 g g gt u= sfiasr & garfa 6i

3R R g1 Sfia= &t & & forg ofik gareT aut yafarur & i g+ o1 & fag

39 59 FY guT H&A ? (IR 150 wrdt # Afdrg) 10
Global warming and climate change are the outcomes of human greed in the
name of development, indicating the direction in which extinction of

organisms including human beings is heading towards loss of life on Earth.

How do you put an end to this to protect life and bring equilibrium between

the society and the environment? (Answer in 150 words)



Q3. HgH faare! & div Igzur Hi= Ry o &1 adu™= dgf A, udder IguT Ukt T Gufta
AT 82
Given below are three quotations of great thinkers. What do each of these quotations
convey to you in the present context?

(a) “ga=i @ St oft areor g, I/ Hial, dfeh I/ eraa s el ofik sru= adids @ 34
ST 3, ORI AT 7 J411" @t fderr—=< (SR 150 st & &fSg) 10
Learn everything that is good from others, but bring it in, and in your own
way absorb it, do not become others.". Swami Vivekananda (aAnswer in 150 words)

(b) "2rfek o srvra | Ry &1 I w137 7T 81 fheht oft g ok &t QT A & g

sy ok 2af<hs ST & smasTeh g1" - IRER ud (IR 150 et § &fdg) 10
Faith is of no avail in the absence of strength. Faith and strength, both are
essential to accomplish any great work." Sardar Patel (Answer in 150 words)

(c) “IA & AJHR, AfE AT GERI & HTARRI T Ieeiv el & af ag ardt &1 Afaemre
% IR, TR ag dhaet I A % TR & Siear @ & a8 A 21" F3qed Fie
(IR 150 =l 7 &ifsig) 10
In law, a man is guilty when he violates the rights of others. In ethics, he is
guilty if he only thinks of doing so."”. Imnmanuel Kant (Answer in 150 words)

Q4. (a) "=arayuf iR sr=arayguf Y sraurReT URIfAS &1 T A uge St =aragof or, Siet &
e # ag s=arayuf gt GehdT 81 <ATg-gT &l AahA & fAY agard def IR AR TeR
@t STt Trfgu i Sudwh yA o1 afRa IEERvn afgd gdteror fifsg)

(IR 150 =l 7 &fsg) 10

The concept of Just and Unjusts contextual. What was just a year back, may
turn out to be unjust in today's context. Changing context should be constantly
under scrutiny to prevent miscarriage of justice."” Examine the above statement
with suitable examples. (Answer in 150 words)

(b) ATH & IR ohl ASRIIEST ehich &0 & ufa sifaad<hl smafh @1 uRuvm sr=ama giar 21
Ueh 9HgIER A o ag @ Sit eHt anfeerdr ol ATRSIEINT hedT g 3k =8 e @
T T g1" STYh HYA &1 TR 3gEIon dfgd gderor KAl
(IR 150 et 7 4fSg) 10
Mindless addiction to Form, ignoring the Substance of the matter, results in
rendering of injustice. A perceptive civil servant is one who ignhores such

literalness and carries out true intent." Examine the above statement with
suitable illustrations. (Answer in 150 words)



Q5. (a) MR Tfgar iR Afder dfgar e wema= A anfefa & Fiq &1 omeaR dfgdar uga @
ot forarfAa @ srafes Afaer dfgar sioft g @y g ardhr 81 2= & weafen,
e SR uREfRfar a1 @A & forg ueh Sugeh smest Afaes dfgar o gama
afsgl (IR 150 e # difdg) 10
"The 'Code of Conduct' and 'Code of Ethics' are the sources of guidance in
public administration. There is code of conduct already in operation, whereas
code of ethics is not yet put in place. Suggest a suitable model for code of
ethics to maintain(integrity, probity and transparency in governance.
(Answer in 150 words)
(b) T I WRAH =g &fgar (dfieeH) HY st R dwpfa 3k AR w®
SR =g, a4 3R fAsgerar g1 adu= =arfes uuret! # <2 & RAigia @ = &
IR T2 FEeTa & e d 39 R =i Hifg) (IR 150 e F &fdg) 10
The soul of the new law, Bharatiya Nyaya Sanhita (BNS) is Justice, Equality
and Impartiality based on Indian culture and ethos. Discuss this in the light of

major shift from a doctrine of punishment to justice in the present judicial

system. (Answer in 150 words)

Q6. (a) R Tpfa iR Feu yureht # @ffep SifRar & aTasiE 99 awR wer fhg g &1
Rroe o aul @ arde@e darstt 7 afgensi f T nar T B 81" afgen d@ie
Rdgs & Sl gerar agM SR $HTERY & I A ot 99TY ¥@A & fAQ Iugh
U gHATEy| (IR 150 gt & &fdrg) 10
"In Indian culture and value system, an equal opportunity has been provided
irrespective of gender identity. The number of women in public service has
been steadily increasing over the years." Examine the gender-specific
challenges faced by female public servants and suggest suitable measures to
increase their efficiency in discharging their duties and maintaining high

standards of probity. (Answer in 150 words)

(b) fAzr st 1 seg AR Y Qa1 A H Faaar GRIYT F=ATr ik gea 7 gg
1 faepTa e & fIg smmeor iR saagR &1 U agd §1 = A9 a91q 3G 81 98
gieHT F4 fafae Qawi &t IaEs Zerar ger SR S TR IR Qa1 ue & A
QR TAQHT 2 (R 150 et F Af3g) 10
Mission Karmayogi is aiming for maintaining a very high standard of conduct
and behaviour to ensure efficiency for serving citizens and in turn developing
oneself. How will this scheme empower the civil servants in enhancing
productive efficiency and delivering the services at the grassroots level?

(Answer in 150 words)



ous B
Section B

Q7. Uit seriuRes AT &Y Yah deh-Ichl shust g it et gfar # e, 9ur & gt aa9
ISt Shut 81 3T 39 ShuHl & qg FrfFR) sifterRt ok agdead aRuReE &1 dsit 9 g
@ deh-ichl GURT A 39 uRga Fit fRAzar R vafazor srdfwatai, Frame arfdewzon sik
3 o i AT ser & g1 g sgaara & yafarofia usRig & ar d ag<wayguf gel &
HTHAT &d g1 2023 #, 31Tk WTa- J 2019 # gt &Rl Y g1 | Mgeyd A9 I&si |
48% h It gf s 81 Soif @ud # Iea-a gfe g & § smuds 321 sl
et FHotf HTaTehdT & HROT § STt AT AT (Al) & a1 =R d ufRka 81 Al-d=nfea
Qearait 39 IeET 1 & arercie yRuRes sifers nfafafeat i geem d aga
31 oIS SHTUET 3R fegq Setf i siraawar gidt g1 venfih & var @
yaferofig wrel u= fqr g¢ 7€ 8, 39 weaeu daafqar ot g 78 g1 Al Atse, fadw
w4 ¥ e Afi= afr siik a1 ik & Sught forg s T e, aRuRe @ager @t
I g1 | aga oifdes Foif @ua & &, o srcafaes a<it @ gfS; gidt a1
geafd, 2030 deh A SR IS g oheq Y ufdagdr ik &18g uga @ & &, IS+
&H e i Tt W STt @ Fifh Al a1 GehieRror ST 81 39 #189 ol UTe et oh
fog, Ffterofta Swif & Syt & gafa fRder smages g giefih &= & afawgeff
HIgI O hfS1S 3R 915 713 8, T8l aoR i AT 3R WRURS & T &l F91¢ @A &
forg Asht @ FarER smayed g1 TR, drvvEdr iR yRofiaar & i g sl &
& forq, wer urifaes shew sayes g Sit aarauriae Ie2al ok Afaw e, g4t &
3= gl
(a) Sud~h ATHe # Iea= gAMATT IR Tuh! deehrer ufaferar @ g 2
(b) v At A nfae Afaes gei wr =t RKifdal
(c) smuchl st at deh-cht Rurstl gR1 &2 forg o= & fare RIfga g mar g1 sad

3TIYRT hl AT & fAT 3y =T aifher ok Afae akh & 2
(d) T fRdsfier afws gF & 9], o Al TamaR SR yafarefia uesfig & g dqea

1Y @4 & fAg aar Ut Srg=TeT ?
(IR 250 reat 7 &Sy 20



There is a technological company nhamed ABC Incorporated which is the second
largest worldwide, situated in the Third World. You are the Chief Executive
Officer and the majority shareholder of this company. The fast technological
improvements have raised worries among environmental activists, regulatory
authorities, and the general public over the sustainability of this scenario. You
confront substantial issues about the business's environmental footprint. In
2023, your organization had a significant increase of 48% in greenhouse gas
emissions compared to the levels recorded in 2019. The significant rise in energy
consumption is mainly due to the surging energy requirements of your data
centers, fuelled by the exponential expansion of Artificial Intelligence (Al). Al-
powered services need much more computational resources and electrical
energy compared to conventional online activities, notwithstanding their notable
gains. The technology's proliferation has led to a growing concern over the
environmental repercussions, resulting in an increase in warnings. Al models,
especially those used in extensive machine learning and data processing, exhibit
much greater energy consumption than conventional computer tasks, with an
exponential increase.

Although there is already a commitment and goal to achieve net zero emissions
by 2030, the challenge of lowering emissions seems overwhelming as the
integration of Al continues to increase. To achieve this goal, substantial
investments in renewable energy use would be necessary. The difficulty is
exacerbated by the competitive environment of the technology sector, where
rapid innovation is essential for preserving market standing and shareholders’
worth. To achieve a balance between innovation, profitability and sustainability, a
strategic move is necessary that is in line with both, business objectives and
ethical obligations.

(a) What is your immediate response to the challenges posed in the above case?
(b) Discuss the ethical issues involved in the above case.

(c) Your company has been identified to be penalized by technological giants.
What logical and ethical arguments will you put forth to convince about its
necessity?

(d) Being a conscience being, what measures would you adopt to maintain
balance between Al innovation and environmental footprint?

(Answer in 250 words)



Q8. T Geh aRks AHTEHieH AR § 3k gt 8t A I8 Yah A5y o isil & wu | fages forar
mar g1 o RS gei ofik swwarsii/gAifaal ur 38 awhre s 37 Fi smavgesdr o,
3H Uoh ST ITdhard! §9g ZRT SRISHTR gahi i et & Hafda ger i [iar o
e
gg urar 1T ok 351 J RIS srdengsd sifdes oft Freen ofik 3= fAem urea &t &
dra RIS hY FuEn SR ot iR ot sufew 3 eIk ok s weT A
Hemrseht IS 3R IS FWR & alky ufAwRal & g1y I rhten o & ag a9 amA
31Tg fh AfYh TR W Uas 141 ATdRaATS! THg IURT &1 FHA aT SRISHTR A fi orelt &
fog a2 99 W sifrar= gemar 81 fonddt fafre axera @ garstt &t g7 & fog fagiy =
faam ST T@T UTI I<F IS Rl WE I W™ AHTdchard! nfafafdat st sicmw 37 & fAg et
SUART 3T UT1 gg it ar T for 3 () | I ST | AT A1 et < g
hifA2y H @I 81

T WSl ok argaR @« &l Uas FAffalfayaia gftear ga=m @A o6 6 a8t S &
0 SRierR garsit @ \iere Hifgar ik writa "ivgiRe et aur o= Huehl & AT
& SHTdehardl Hs-/Eqg = €@uh fohar 81 w9a &t 7T g fF dsht d wrfardt fi se ok &=
aaifatsTrsei &t ik Tu A7 @ uga g A fear so)

IR 9 & A1ead & gford g1 6 1€ Sitg | uar g for adt e 7 SRR gar
O, SR 3R ZfeR R aga afva &1 398 @ ¢ sitaaT g R 6-8 62 salagie
fearswderae, st &1 Subi &= g faar @ 91 @ oft uar =« fr ¢ SRR gar 59
afYer sddhardl Wig & @ afhal (37 Ut aret) J uTe T2 a1 FHYAT R
ggrgyfa R @ &1 393 Siere Hifdar srerke @ gar e ik R wgl & 9y 3 g
e 2, gl e 6 378 @ &hd 3 9 afcaay iR S, o ur E-RAh edie widd
AT = R T @1 Q9T o1 3T AT foh & IR el # T Y SR S aaTd) faaRyRT
T TR & o @ | Ik URE TRahR Y ugel, fifaat i sifa sieita=r e areflt & aiiz
Sifaardl ar=aarsit st A9 a1t 3R IUETE Sl FEET 27 arefl A

(a) Sud~r AT @ FAaea & forg o1 & e o faered Iuerey § 2
(b) TT HISTET HATAT hl AT - h fAQ a1 Iurg e aifer ag giAfgya favar s
o fh 04 Tyg T A gHds A SR ATeld @RI A | Gl 9 gt |ah ?
(c) Iud= uRgey #, gford a1 hir Githar SR T de Fi yomet ot Tem & fag
31T T e FISTHT AT ?
(IR 250 greaf & §fSg) 20



Raman is a senior IPS officer and has recently been posted as D.G. of a state.
Among the various issues and problems/challenges which needed his immediate
attention, the issue relating to recruitment of unemployed youth by an unknown
terrorist group, was a matter of grave concern.

It was noted that unemployment was relatively high in the state. The problem of
unemployment amongst graduates and those with higher education was much
more grave. Thus they were vulnerable and soft targets.

In the review meeting taken by him with senior officers of DIG Range and above,
it came to light that a new terrorist group has emerged at the global level. It has
launched a massive drive to recruit young unemployed people. Special focus was
to pick young people from a particular community. The said organisation seemed
to have the clear objective of utilising/using them for carrying out militant
activities. It was also gathered that the said (new) group is desperately trying to
spread its tentacles in his state.

A definite/reliable intelligence tip was received by the State EID and Cyber Cell
that a large number of such unemployed youth have already been contacted by
the terrorist outfit/group through social media and local communal organisations
and other contacts. The need of the hour was to act swiftly and to check these
elements/designs before they assume serious proportions.

Discrete inquiries made by the police, through the Cyber Cell, revealed that good
numbers of unemployed youth are very active on Facebook, Instagram and
Twitter. On an average, many of them were spending 6-8 hours each day, using
electronic deviceslinternet, etc. It also came to light that such unemployed youth
were showing sympathy and endorsing the messages received from certain
persons, allegedly the contact persons of that global terrorist group. Their social
media accounts revealed their strong affinity to such groups inasmuch as many
of them started forwarding anti-national tweets on their WhatsApp and Facebook,
etc. It seemed that they succumbed to their ploy and started propagating
secessionist ideology. Their posts were hyper-critical of the government's
initiatives, policies and subscribing to extreme beliefs and promoting extremism.

(a) What are the options available to Raman to tackle the above situation?

(b) What measures would you suggest for strengthening the existing set-up to
ensure that such groups do not succeed in penetrating and vitiating the
atmosphere in the state?

(c) In the above scenario, what action plan would you advise for enhancing the
intelligence gathering mechanism of the police force?

(Answer in 250 words)



Q9. fUsa e aul #, fashy ®u @, &= iR Iog TRl &t agemart orifa & aad 2ar &
gTfad IS4l | TaAe! GHET T T §< deh fARTRUT g1 81 gT<iifeh, $o Isal J &3
geITeh QY ¢ STgl -Teraett I o1t oft e & & faaft 32 fir saesigsht & wror s+
g% 81 Afga ot ger a1 @ et et d qadt (Werer sifRar) & ug wR a4 &, st et
ft Toraett guT @ garfaq &1 e w3 & o1 R ofk fRamr shiaa & g g &
=t A e uwrfaa gl d g RAeragee ot =g §1 fUed o 9wy |, dfga 7
Tt dhax it nfafafdat & ar F arafas gwa f SRR ure A & fOg gw SapE
Gfthar Aead T frar 81 s9ar & Ry s ok Foaferat w Afds aya saR &
o gfer gR1 o2 SsvTg R ok aneft sifNa T« S 2@t 81 AR W vk gt
T Aqe TR 7@ A1 I8 U Githar I & Aread | 21 AT foh T &9 gk ot
sranyfe gfaRt & ary fasty nie & @1 gg 91 famr w6 awa farg, Afga 3 sraft &=
& ITY 39 @ 7id F Ugd e gof YR&T 1 81 JraT TUT afedd aenft A4 3= R
fear aensft & akM, I S T3t Ferafaat wr @afera sfQaRt & a1y o o= &
ST @ gTeifeh, 39 i uia 9t @ 3ifdes snfeard afg«msi A nifg =t &R fomr ik
oeq wR Y 3R AT AT RE R i 3 Rieen W off ok Iugfaat fY awnrer Rerd Hr
AT &R gt fY ifeR & 39 Teares iR SgR &1 ST graa aga iR gld s &
gifer enfeare afgen? sraid IfSid ok eiehmer i1 Afga A e+ I=a sifderrsy, T>a
oh SMTESI (T SITIRR) @ 23t de 3k Alarse w9 & dudh wnfud T =mgr, dfha
FHHSIR FAfFRTAE & HROT 39T R U F 3% g1 Afge it 7t gfaur oA for gond no
Joafadt J g 9 thae & & gz Ui A, S R W= 59 @ra Fuat 1 g9 O,
afeeh 3 gret g1 ® YReM Jl WR °Td e fohg g gaet | off enfAe &1 gredifas, o
Jerafaral & T8 St mar ot fafe fAdsor @ argr g gl o6t ag safag & snfeard
AfgTd 3MTehrer =4 @ IR 3R e T ot
39 fRfa A, grea &t AdfRa A & Ao Afga w Meflart 1 9gr1 @41 us 9ehdrn g,
o Ariient i d=rhidt ST ST et & Td A iR oft ivfiz gt smaefti

(a) 39 fAfa d Auea & fog AR & T F9-8 fAerea Iueey &2
(b) Afga =t foret Afaes gfaemstt o1 wm=T AT Uy @1 82
(c) much IFER Afga & forg i=-a1 faerea sra=m=T sifdas Iugeh ghm ofik ol 2
(d) =isrer A 4, afgen eyt & gy gfe grt @ sifaf<s gefaardt sen e
ST =1fge 2
(IR 250 greaf & §fSg) 20



With multipronged strategy of the Central and State Governments specially in the
last few years, the naxalite problem has been resolved to a large extent in the
affected states of the country. However, there are a few pockets in certain states
where naxalite problem still persists mainly due to involvement of foreign
countries. Rohit is posted as SP (Special Operations) for the last one year, in one
of the districts which is still affected by the naxalite problem. The district
administration has taken a lot of developmental works in the recent past in the
naxalite affected areas to win the hearts and minds of the people. Over a period
of time, Rohit has established an excellent intelligence network to get the real
time information regarding the movement of naxalite cadre. To instill confidence
in the public and have moral ascendancy over the naxalites, a number of cordons
and search operations are being conducted by the police. Rohit who himself was
leading one of the contingents got a message though his inteligence source that
about ten hard core naxalites were hiding in a particular village with
sophisticated weapons. Without wasting any time, Rohit reached the target
village with his team and laid out a foolproof cordon and started carrying out a
systematic search. During the search, his team managed to overpower all the
naxatites along with their automatic weapons. However, in the meantime, more
than five hundred tribal women surrounded the village and started marching
towards the target house. They were shouting and demanding the immediate
release of insurgents since they are their protectors and saviours. The situation
on the ground was becoming very critical as the tribal women wors extremely
agitated and aggressive. Rohit tried to contact his superior officer, IG (Special
Operations) of the state on the radio set and on mobile phone, but failed to do so
due to poor connectivity.

Rohit was in great dilemma since out of the naxalites apprehended, two were not
only hard core top insurgents with prize money of ten lakhs on their heads, but
were also involved in a recent ambush on the security forces. However, if he did
not release the naxalites, the situation could get out of control since the tribal
women were aggressively charging towards them. In that case, to control the
situation Rohit might have to resort to firing which may lead to valuable loss of
lives of civilians and would further complicate the situation.

(a) What are the options available with Rohit to cope with the situation?
(b) What are the ethical dilemmas being faced by Rohit?

(c) Which of the options, do you think, would be more appropriate for Rohit to
adopt and why?

(d) In the present situation, what are the extra precautionary measures to be taken

i i i i ?
by the police in dealing with women protesters? (Answer in 250 words)



Q10. FIgT Uah as UedtIah § STt Yok HeaH TR dTet 2R | Tah adt ufafda sreuare sjaen &
forg &m &t &1 38 Tk ¢ gur Wfdaferdt dex &1 aurt a9 mar g [9d s
Sty Iuawol SR fRAywada Rt gfaurett & a1y = @1 81 wa= & gafmior
frar wan @ ik ag fAfva Suawon sk Axfi=i Y @i Fil ufraT I R @ g1 @ &
fog Aiwter afafa & v & & d I Rfehar Suwrol &1 FRITR &A T adf
ufafdd sges Rcharsit @ Sifoar smwfaa 6 &1 3R Tar fab 9@ wid, sit 39 e | v
uffig siyfeienaf &, 7 oft sro-it s o & 81 9fh sreuaTer Ash w@nfaa 8, safeg
Ik fOIg haet o el T aret & AT ifAard Agl 81 39h sretTan 3¢ wa & foh
Ik TS i shut o faha wfdarsat @ ameT R ) & ok ot smyfef &1 ueh emar
¥ IARA H AT HAMM 1Y G 37k WIE ohl Y MTaifed AT, 39 fAATE gerara
T RIY gt TehaT & 3R ITh! Bfd @R R TeheT &1 ITATA U 39 TR GRT WET
AT g 3R Ik fohalt oft et a1 gwefs i

(a) ST <kl T kAT TTiRe 2
(b) ag St AT ATEd & 39 hd I g wdft 2

(c) =9 am A, Rifthear Afdear Fa PifgaaFa@adgw g ?
(IR 250 reat 7 &) 20

Sneha is a Senior Manager working for a big reputed hospital chain in a mid-
sized city. She has been made in-charge of the new super speciality center that
the hospital is building with state-of-the art equipment and world class medical
facilities. The building has been reconstructed and she is starting the process of
procurement for various equipment and machines. As the head of the committee
responsible for procurement, she has invited bids from all the interested reputed
vendors dealing in medical equipment. She notices that her 8 brother, who is a
well-known supplier in this domain, has also sent his expression of interest.
Since the hospital is privately owned, it is not mandatory for her to select only
the lower bidder. Also, she is aware that her brother's company has been facing
some financial difficulties and a big supply order will help him recover. At the
same time, allocating the contract to her brother might bring charges of
favouritism against her and tarnish her image. The hospital management trusts
her fully and would support any decision of hers.

(a) What should be Sneha's course of action?
(b) How would she justify what she chooses to do?

(c) In this case, how is medical ethics compromised with vested personal

interest?
(Answer in 250 words)



Q11. 39 a9 ETyRuT &4 F Hiwor wff g7 & swror, [ &t ur=t h ik wH v AT A
gs @7 g1 oot srtaer it &l 1R dusTer Sahe @ SaRA 8q AW ST WSR & w@’ida
&2 & fow oA srefiaer srfderiRal et afeha = 3@ &1 ST GRetur & fAw SInRsahdr
NI & ATY-TTY Y-STeA o Ak g &l Ak & g T Thed IB1Q 1T g1 7ial
T ERT T g TeleheT &t a1 fhg 71q &1 A & forg aR aikd« srvar 1€ sremea @
gt Ei=R aret foram=t fY e i <11 @) 81 Ot Fiars @ forar smeRter & o S @1
forarat @1 g ufafafdsza sro= gef ot doe e sctaer @ fAear @ ok fAwraa w=ar
2 5 o1gf 3¢ araht et Y Riemd &t arqafa 78 & o @ 8, adff 78 & urg [R@a a2
I gt sitenfies uferarsit & fow mgR aikae & Aregw @ WY A § ur &= @ &)
foRar=t vt SMRIY & foh IenT = foham= et ik ye &, A Sen grT Reya &
B 21 fit o, fohar=T &t 21 & <hl Se=d & Fifer @ v 99 de faRty el /e
& ahl 2 @ &1 T fAAT FAaeR &t ST Hepe @ fAgear ot g et sie T forar
ST HehdT RAiTh 39Y T3 &1 # s SRISHR gt sIrdat
(a) T fSien afoie & wu #@ [AeT Ftaex & g Iuey gt fAeeal w= T=tf fKifsgl
(b) fRauReT & wREUR 3 fRal &l e | vt g wi=-3t 3R swréansar i o
Hehdll 82
(c) %ﬂﬂiﬁ#mﬂw%ﬁaﬁwﬂﬁwﬁgaﬁq&ﬁaﬁaaﬂa@”ﬁmm@
(3<R 250 =l 7 fey) 20

With the summer heat being exceptionally severe this year, the district has been
facing severe water shortage. The District Collector has been mobilizing his
subordinate officials to conserve the remaining water reserves for preventing the
district from plunging into acute drinking water crisis. Along with an awareness
campaign for conserving water, strict measures have been taken for stopping the
over-exploitation of ground-water. Vigilance teams have been deployed to tour
the villages and find the farmers who are drawing water from deep borewells or
from the river reservoir for irrigation. The farmers are agitated by such action. A
delegation of farmers meets the District Collector with their issues and complains
that while they are not being allowed to irrigate their crops, big industries located
near the river are drawing huge amounts of water through deep borewells for
their industrial processes. The farmers allege that their administration is anti-
farmer and corrupt, being bribed by the industry. The district needs to placate the
farmers as they are threatening to go on a prolonged protest. At the same time,
the District Collector has to deal with the water crisis. The industry cannot be
closed as this would result in a large humber of workers being unemployed.

(a) Discuss all options available to the District Collector as a District Magistrate.

(b) What suitable actions can be taken in view of mutually compatible interests of
the stakeholders?
(c) What are the potential administrative and ethical dilemmas for the District

Collector? .
(Answer in 250 words)



Q12. =i. sfiiffara+ vas ufafda Sa uitenfAh Su-it & wriRa v afks asfae &1 ag Su-it
wHfgfeed | sru= sranyfAes ety & forg S+t st 81 . shiffare= Rt i qar =
T T aTelt Teh MY EF &1 Aqed R @ &, AAThT 3829 Y ¢ g (fRAwmoy) | dsh
¥ et aret HehfAd INT T FATST AT 81 T NAR T wR 7 dsft @ et @ 8 iR dar
# 39ch A« &Y T fR-oR ag @ g1 2. s i &9 = 59 a1 & erae J asht
1R T agd a1 g it 39 fg aTeTR # 1t 71T @ 3R shut areR # ugelr sed
@A T BT ISHT A1t g1 S AT h R, S F goaRs aemi Agan &
fRfreRet (YeTfen) adieroi & Ash o ok e srgrtes uTte et & oI o eitéae
gAY | 390 FS ThRIHE TRUITHT ht I18R heA & forg 221 J gviR &t oiR gfier &a
# gahRTHes ot Y Rl o, gfaa ggafa i afekan ot stg 291 ok @ &1 gew
farerfaa &= & o, ufagdl su-t ZRT uget @ Uee fohy e Aifiren] a1 IuahT &eaT
A @1 31 siffaaa dd eiidarec AR A g A8 &, gu g Se ag Muaraemg for g=
¥l ot IuahT fohg fasIT weat vt ORT eI SrvE g1
(a) o< fafa & s o= &t 2
(b) T i« Afaes usit & uerrer A 3rua et 3R uRumat &t udieror HifSg)

(c) o& uRgaea #, a1 Afaerar ok situfd Afderar fFe yhR 92 99 WR AT &t a=n

Hehell § ?

(SWR 250 greatf § ffSg) 20

Dr. Srinivasan is a senior scientist working for a reputed biotechnology company
known for its cutting-edge research in pharmaceuticals. Dr. Srinivasan is heading
a research team working on a new drug aimed at treating a rapidly spreading
variant of a new viral infectious disease. The disease has been rapidly spreading
across the world and the cases reported in the country are increasing. There is
huge pressure on Dr. Srinivasan's team to expedite the trials for the drug as there
is significant market for it, and the company wants to get the first-mover
advantage in the market. During a team meeting, some senior team members
suggest some shortcut for expediting the clinical trials for the drug and for
getting the requisite approvals. These include manipulating data to exclude some
negative outcomes and selectively reporting positive results foregoing the
process of informed consent and using (8) compounds already patented by rival
company, rather than developing one's a own component. Dr. Srinivasan is hot
comfortable taking such shortcuts, at the same time he realises meeting the
targets is impossible without using these means.

(a) What would you do in such a situation?

(b) Examine your options and consequences in the light of the ethical questions
involved.
(c) How can data ethics and drug ethics save humanity at large in such a

scenario?
(Answer in 250 words)



